0 =8 w7 =44 (&2 2571=)

CHelr ME, &, %, $/kg

= 25} 207s G5 ) 2007 92 () susEE) [ zas(A) | FEHEA)
EE ze EE sz | 2o [ = | 2o [ =2 | 2006 [ 20074
= | 1,018,943 198,194 10,030,409| 1,988,895 -17.7 | -16.5 0.3 -0.5 5.00 5.04
1 == 202,558 32,807 2,097,863 346,686 —-17.3 | —-19.1 -2.6 -9.2 5.64 6.05
2 o= 129,118 25,126 1,314,328 265,944 -28.5| -20.6 | -14.7 -5.6 5.47 4.94
3 H| £ = 83,622 12,359 759,597 107,070 7.6 7.3 18.3 11.6 6.69 7.09
4 =23 68,768 10,160] 672,160 107,025} -14.6 | -16.4 7.1 7.3 6.29 6.28
5 2l =L Alot 53,087 7,268 567,069 82,8050 -31.4| -30.7 2.2 2.6 6.87 6.85
6 U= 50,990 7,551 486,623 72,062 -32.6 | -21.4 -6.0 —2.2 7.02 6.75
7 ofgtollo|2| E ofgt 30,902 5,243 268,920 47,413 5.7 4.2 5.7 7.3 5.76 5.67
8 AL C|ot2tH| o} 17,614 3,097 209,970 35,837 -1.3 4.3 3.0 4.2 5.92 5.86
9 =2 21,513 3,478 206,591 49,147 -3.5| -32.1 29.1 22.8 4.00 4.20
10 B 7| 23,137 4,145 199,601 37,484 -0.9 -6.2 15.8 -6.3 4.31 5.32
11 el H 15,487 3,568 182,347 38,127} -43.9| -31.8] -18.6 -5.3 5.56 4.78
12 THE| 22} 13,966 2,112 148,676 22,457} -42.4 | -41.8) -29.6 | —-34.7 6.14 6.62
13 oA 14,131 1,724 140,548 17,291 5.5 13.6 44.6 44.5 8.13 8.13
14 getd 13,533 3,311 138,506 31,754 5.8 11.6 51.9 26.0 3.62 4.36
15 O| &tz2| ot 12,102 2,734 128,896 30,026 5.7 5.3 12.9 17.3 4.46 4.29
16 = 14,598 3,675 120,272 31,887 10.0 7.2 15.0 15.6 3.79 3.77
17 ZHEC|of 13,489 4,440] 118,859 46,731} -10.0| -17.5 36.7 10.7 2.06 2.54
18 Ef = 10,479 2,155 113,692 25,132 -25.9| -24.9 2.2 11.2 4.92 4.52
19 S{Alof o4t 12,038 3,662 106,953 33,241} -26.0| -35.2 2.4 -3.1 3.04 3.22
20 A 2l 9,417 2,059] 97,447 24,490 2.1 -13.4 21.2 5.8 3.47 3.98
21 HAlZ 10,034 2,717 96,363 24,967) -27.9| -26.3 0.3 —2.4 3.75 3.86
22 =2 Al 9,117 1,349] 90,640 14,7771 -33.3| -21.2 -17.1 -17.5 6.10 6.13
23 i 10,881 4,050I 90,638 37,692 -10.3 | —-16.1 -59| -10.2 2.30 2.40
24 CH et 8,670 1,942 89,055 20,378 -35.8 | -44.8] -19.1 | -26.0 4.00 4.37
25 Fttct 7,896 1,876 88,493 18,172] -25.2 12.1 -11.7 | -16.1 4.63 4.87




0 B MRF FAMN (4] 25742,

s 20074 9g(Ed) 20074 98 (=) SUE(EE) SHE(FAD FAETHFA)
= = ol 2 ol z2 ol zz | 2o | z= | 20064 | 20074
e 795,002 | 113,798 | 6,441,401 | 1,057,124 —48| -13.2 9.8 3.7 5.75 6.09
1 == 542,702 71.755] 4,016,382 614,747 16| -99| 153 8.7 6.16 6.53
> ol etz|of 40,140 465 392,082 5602 | -125| -398 62| —246| 4974 | 70.03
3 o= 31,090 4,693 318,341 45669 | -11.0] -s50| -009 23 7.20 6.97
4 ol =L Al o} 19,192 6.101 199,310 69,085 | -11.0| -11.9 2.9 3.2 2 89 2 88
5 ol 19,156 5,954 180,262 57268 | -300| -361| -16.0| -17.4 3.09 3.15
6 N 20,542 o470l 179,208 01,468 9.3 2.2 66| 13.6 8.90 8.35
7 | £ it 23,591 5,087 175,718 54,219 23.8| 137| 336| 285 3.12 3.24
8 cH ot 9,279 3540 123,077 54384 | -224| -331 11| 12 2 21 2 26
9 e 8,601 1,978 87,562 02086 | -21.2| -213| -105] -7.7 4.09 3.96
10 7| Aet 6,560 2876 76,905 35077 | -26.1| -29.3| -18.2] -20.0 214 219
11 ETTN 5.700 73 71 126 1051 | -410| -389| -17.8 10| 8315 | 67.70
12 By 5,021 367 58,461 5250 | -32.9| -42.7 3.6 o8| 1082 | 11.12
13 ! 5,094 365 55,006 5085 | -222| -369| -9.1| -304 832 | 10.86
12 orEzlo} 4117 1,455 49,500 17306 | -37.1| -403| 158] 1238 279 2 86
15 z= 5174 132 42,623 1459 | -381| -4a26| -172| —231| 2713 | 2921
16 atz o] x| of 4,297 1,428 35,085 10,202 186 12.0 56| -12.1 2 86 3.44
17 E{7| 3,159 230] 32,777 2073 | -15.6| -102 4.7 47| 1581 | 1581
18 EE= 1013 70 28,931 1085 | -32.7| -655 79| 100 1487 | 1457
19 2| 2 067 179 00,456 1,802 53| 150| 65| 492 1117 | 1246
20 FLtct 1,923 319 21,603 3550 | -10.4| -7.9 1.0 3.1 6.19 6.07
o1 o|oFa} 3,537 346 19,970 1,635 772| 1308| e666| 624| 1190 | 1221
20 oAl 2 2028 100 18,350 955 123 -16.0| 256| -103] 1372 | 19.21
23 DTPN 1658 22 17 566 290 532| -317| -3.0| -491| 3180 | 6067
24 A ol 1,388 55 14,584 833 | -424| -716| -280]| -522| 1162 | 17.51
o5 B 1427 174 14218 1,304 o5| 1062| 156| 171| 1104 | 10.90




